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Question No:1 ( Marks: 1) - Please choose one

If f is a twice differentiable function at a stationary point Yo and
%) >0 then f has relative ............. At Yo
» None of these
Question No: 2 (Marks: 1) - Please choose one
If f is a twice differentiable function at a stationary point Yo an

S"(x)<0 Xo

then f has relative ............. At
» Minima
» Maxima
» None of these

Question No: 3 ( Marks: 1) - Please choose one

Y=Y
A line %is called @ oorvvveor. for the graph f if
lim () =y, or lim f(x)=y,

X—>+00

» Vertical asymptotes
» None of these

Question No: 4 ( Marks: 1) - Please choose one

f f(x)=3x"+2x+1 then f'(x)=

> 3’ +2
> 3x” + 2x2

9 2
> 24x° + 2x

Question No: 5 ( Marks: 1) - Please choose one



d(tan x) _
dx

SECx

> coSeECXx

2
> coSeC” x

Question No: 6 ( Marks: 1)

- Please choose one

b _

xy=4 dx
If then
» 0
-1
> X
4
> 12

Question No: 7

( Marks: 1)

vuZs

- Please choose one

2x—p=—_3
if 7 77 then

»>2
» -2
» O
» -3

Question No: 8 ( Marks: 1)

- Please choose one

d
—[secx]=
dx[ ]

1+sin’x

—sinx
1+sin’x

1-sin®x




Question No: 9 ( Marks: 1) - Please choose one

300 =

w|3a

T
4

- VUZs

r
2
>

Question No: 10 ( Marks: 1) - Please choose one

Consider a function h(x)and a constant ¢ then

d
E((C) ) =__

» O

L (h(x))

,dx

d
N E(k(cx))

Question No: 11 ( Marks: 1) - Please choose one

Suppose that / and £ are differentiable functions of * then

zH

[]l/1-1/]lg]
g2




[ell/1-[/1g]
f2

>

[¢1L/1-L/"1Le]
> A

Question No: 12 ( Marks: 1) - Please choose one

d
—[cosec x] =
dx[ ]

1+cos® x
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—COS X
1-cos®x

1
1—cos® x

>

Question No: 13 ( Marks: 1) - Please choose one

>

Question No: 14 ( Marks: 1) - Please choose one

Chain rule is a rule for differentiating of functions.

» Product
» Sum




» Difference

Question No: 15 ( Marks: 1) - Please choose one

d ny_ n—1
= [x"]=nx

The power rule, holds if n is

» An integer
» A rational number
» An irrational number

Question No: 16 ( Marks: 1) - Please choose one

Let a function / be defined on an interval, and let ™ and *2
()= f(x,)

denotes two distinct points in that interval. If for all points
" and 72 then which of the following statement is correct?

» /isa decreasing function

» / isan increasing function

Question No: 17 (Marks: 1) - Please choose one

S"(x) <0 . . .
If on an open interval (a,b) then which of the following
statement is correct?
» / is concave up on (a, b).

» /s linear on (a, b).

Question No: 18 ( Marks: 1) - Please choose one

If x>i then i[Ian] =
dx

>
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2
2
X
1
> 2x
2
» X

Question No: 19 ( Marks: 1) - Please choose one

y= (x® + 2x)¥
t

Le . Which of the following is correct?



Q =(37)(x* + 2x)*
dx
>

Y =111x° (x® + 2x)*
dx

& = (111x% + 74)(x* + 2x)*
dx

>

Question No: 20 ( Marks: 1) - Please choose one

dy _
¥’ +y?=1 dx
If we have then

L vuZs
B

» None of these

Question No: 21 ( Marks: 1) - Please choose one

log, ac =

log, a —log, c
log, a
log, c

>

R (log,a)(log, c)

Question No: 22 ( Marks: 1) - Please choose one

log,a” =



alog, r
>

log, a

log, r

>
» 109,a+log,r

Question No: 23 ( Marks: 1) - Please choose one

1
log,— =
C

log, ¢

1-1log, c
>

, 1+log,c

Question No: 24 ( Marks: 1) - Please choose one

1
IOgb; =

log, ¢
>

1-1log, ¢
>

1+log,t

s VuZs

Question No: 25 ( Marks: 3)

Question No: 26 ( Marks:5)



Question No: 27 ( Marks: 10)

Differentiate the following function
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